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39. Point A lies at (2,6) and point B lies at (~5,10) in the
standard (x,y) coordinate plane below. What is the
length, in coordinate units, of AB ?
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25. The system of equations below has | solution (a.b).
What is the value of b 7

3a - 5b=22

a+3b=-2
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21. In the standard (x,y) coordinate plane, the graph of the
line 3x — 4y = d passes through the point (-5,6). What
is the value of d ?

A. -39
B. -9
C. 2
D. 9

E. 38
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26. For his job delivering pizzas, Albert uses his own car
and buys his own gas. He joined the local gas station’s
Frequent Fueler program that earns him points toward
free gas each time he buys gas. Points are carncd
according to the following chart

Frequent Fueler Program:

Sign up for the program, eam 50 points
Buy i gallon regulas, carn 3 points
Buy 1 gallon premium, carn 4 poiats

At the end of his first month in the program, he
received a statement showing that he had 545 points
(including 50 points he received for signing up) and
had purchased a total of 135 gallons of gas. To find
how many gallons of premium he had purchased, he
solved a system of equations with 7 representing the
number of gallons of regular and p representing the
number of gallons of premium. One equation in his
sysiem was + + p = 135, Which of the following could
have been his other equation?

F. 3rtdp=495

G. 3r+dp=595

H. 47+ 3p =495

J. 4r+3p=545

K. 4r+3p=595
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23. In the standard (x,y) coordinate plane, a translation
maps a point (x,y) to its image (x -5, y + 3). To what
image does this translation map (-3,-2) ?

A. (-8,-5)
B. (-8 1)
C. (-2, 1)
D. (2-5)
E. (2,1
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37. Suzanne and Chad are going to bake and deliver
cookies to college students during final exam weck.
They estimate it will cost $4 for the ingredients to
make each batch of cookies and $50 to buy the mixer,
bowls, and other utensils they will need. They decide
to sell the cookies for S5 per batch. Assume they have
no other expenses. Which of the following equations
represents the profit, P dollars, they will make on
b batches of cookies?
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38. Suppose ABCD is in the standard (x,y) coordinate
plane such that BC is on the x-axis, the midpoint of
BC is at the origin, A has positive coordinates, and
i coordinate unit is equal to I meter. What are the
coordinates of D ?
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51. The 3 lines with equations y = 4, x = -3, and y = x,
respectively, bound a unique triangular region in the
standard (x,y) coordinate plane. Which of the following
descriptions is the best classification of this triangle?
A. Equilateral
B. Acute isosceles
C. Right isosceles
D. Acute scalene
E. Right scalene
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44. Link has $3.67 in quarters (80.25). dimes (50.10),
nickels (80.05). and pennies ($0.01). She arranges
these coins in rows and noiices that there are 5 more
dimes than quarters, | more nickel than guarters, and
25 more pennies than quarters. How many pennies
does Liah have?

E7
G. 12
H. 25
Jo3

K. 32
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24. What is the length, in coordinate units, of the line
segment with cndpoints (~8,4) and (4,9) in the
standard (x,y) coordinate plane?
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52. What are all real values of m. if any, such that any line
thiough the points (3.7) and (3.m) will be vertical
when graphed in the standard (x.v) coordinate piane?
K -7
G, 3
H. All real aumbers satisfy this condition.

J. o Ailreal aumbers except 7 satisty this condition.
K. No real numbers satisty this condition.
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46. When graphed in the standard (x,y) coordinate plane,
the lines x = -3 and y = x — 5 intersect at what point?

(2,2

( 2,-5)

Femam





image19.PNG
25. The point (6,3) and the line y =7 are graphed in the
standard (x,) coordinate plane below. After the point
has been reflected across the line, what are the
coordinates of the point’s image?

-

A
y=17
A. (-6, 11) «(6.3)
B. (2, 11)
C. ( 6-11) S——>=
D. ( 6 -3)
E. (6 11)
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47. Tn the standard (x,y) coordinate plane, which of the
following lines is perpendicular to the line 3y = 4x+2 2

=_4,_
A y=-$x-2
=3
B. y= 4x+6
C y= 2x-2
D. y= -;—x+1
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Use the following information to answer
questions 41-44.

In the standard (x,y) coordinate plane below, R is located at
(1,0), S is located at (1,2), and T is located at (4,0) to form
right triangle ARST. The given lengths are in coordinate
units.

y
S
)
o' R 3 >x

T
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52. One of the following inequalities is graphed below in
the standard (x,y) coordinate plane. Which one?

b

AeEaE
e
NVIANVIVIA
wo
BRI
T+
SwLwe




image23.PNG
41. What is the slope of ST ?

.
w3
c 1
p. %
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44, The table below gives experimental data values for
variables x and y. Theory predicts that y varies directly
with x. Based on the experimental data, which of the
following values is closest to the constant of variation?

(Note: The variable y varies directly with the variable x
provided that y = kx for some nonzero constant k,
called the constant of variation.)

x v
2.75 | 0.140
8.50 | 0.425
14.75 | 0.750
16.75 | 0.850
21.00 | 1.050

F. -2.61

G. 005

H. 36l

J. 1590

K. 20.00




image25.PNG
42. What is the midpoint of ST ?

E 20
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45. During a snowstorm, the relationship between the depth
of accumulated snow, y inches, and the elapsed time,
x hours, was modeled by the equation 2x — 5y = 5.
One of the following graphs in the standard (x,y)
coordinate plane models the equation for positive
values of x and y. Which one?

D. ¥
4
6
5
4
3
2
1
% 12345%
E. Y
8
7
6
5
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3
c. Yy
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Use the following

information to answer
questions 33-36.

10—
A E J F B
H G
3.6 2
C
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36. The figure will be placed in the standard (x.y)
coordinate plane so that K is at the origin, AB is
parallel to the x-axis, and | meter equals 1'coordinate
unit. Which of the following values could be the
y-coordinate of H ?

F 18
G. 36
H. 84
J. 10

K. 12
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54. In the standard (x,y) coordinate plane below, the line
through the points (-2,0) and (0,—4) is graphed. Which
of the following values is the slope of any line that is
in this plane and is perpendicular to the graphed line?

y
F. -2 .
i s 20N
J. 05 04)

K. 1
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43. Three linear equations are given below.
y=x

y=-x+1

In terms of being parallel, being perpendicular, or
intersecting, how are the graphs of these equations
related in the standard (x,y) coordinate plane?

A. All 3 lines are parallel.

B. All 3 lines are perpendicular.

C. All 3 lines meet in a common point.

D. Exactly 2 of the lines are parallel.

E. None of the lines are parallel or perpendicular.
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20. Each side of a square is 3 cm long. One vertex of the
square is at (4,2) on a square coordinate grid marked in
centimeter units. Which of the following points on the
grid could be another vertex of the square?

F (72
G. (5,2
H. (23
J. (1,-3)
K. (-3, 2
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22. At Gussie's Pizzeria, Odetta spends $8.75 (before tax)
on the purchase of 2 appetizers and 3 slices of pizza.
The price of each slice of pizza is p dollars. The price
of each appetizer is twice the price of a slice of pizza.
Which of the following systems of equations, when
solved, gives the price, a dollars, of an appetizer and
the price, p dollars, of a slice of pizza at Gussie's?
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44. For what value of a would the following system of
equations have an infinite number of solutions?

F 2
G. 6
H 8
J. 24

K. 32
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53. Point 1(3,4) is shown in the standard (x,y) coordinate
plane below. Point / is reflected across the line x=7
and, after the reflection, is labeled J. What are the

coordinates of J ?

y
o 134)
A (-1, 4)
B. (3. 1)
C. ( 310) o
D. (10, 4) 0
E. (11, 4)
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29. Points A, B, C, and D lie on the real number line as
shown below. The coordinate of B is 0, AC is 15 units
long, BD is 20 units long, and AD is 32 units long.
What is the coordinate of C ?

A B C D

A. 3
B. 5
C. 10
D. 12
E. 15




image1.PNG
-
47. What is the tangent of the angle formed by CD and
—
CE in the graph?

A.%
e 3
o. 2
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40. The line y = 1%+ 3 and the line ¥ =3x— 12 intersect at

2
(6,6), as shown in the standard (x,y) coordinate plane
below. The shaded region is bounded by these 2 lines, .

the x-axis, and the y-axis. What is the area of the

shaded region, in square coordinate units?
Y,

F. 18
G. 21
H. 24
J. 27
K. 42
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26. Which of the following equations represents the line in
the standard (x,y) coordinate plane that passes through
(2,-3) and has a slope of ~5- 7

F oy= -2x+1
G y=-3x-2
H. y=—lx+4
Jooy= %xﬂt
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48. Which of the following values is closest to the number
of miles between Stars A and D ?

2.0% 10
5.2x 10"
1.9x10"
6.7%10"
8.6 x 107

Armam
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27. The entire graph of the relation R of the ordered pairs
(x,y) is shown in the standard (x,y) coordinate plane
below. One of the following sets is the domain of the
relation R. Which set is it?

y
7
6-

A {1,2,4) i ..

B. (1,2,3,4} 3

C. {1,2,3,6) 21 e .

D. (1,246} ! N

E. {1,2,3,4,5,6) 911234567 x
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59. In the standard (x,y) coordinate plane below, lines g, r,
and s all have an x-intercept of —4. The slope of line ¢
is 1, the slope of line r is Z, and the slope of line s is
the average of the slopes of lines ¢ and ». What is the

y-intercept of line s ?

A2 1 q 5
8
B 3
c 3
b0
740 x
E 4
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36. What is the value of b in the solution of the system of
equations below?

6a+3b=12
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